Level -9
Chapter 8
Topic —Function

Answers to Assignment video 1 and 2 of Functions

Exercise — 11 Answers to Assignment video 1

1. a) Solution

Given h:x - x2+1

To find h(2)
h(2) = x* +1
= 2% +1

To find h(—3)
h(-3)= x%2+1
= (-3)2+1
= 9+1

To find h(o0)
h(0) = x* +1
= 0% +1
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1 b). Solution
Given g= x - 10x +1
To find g(2)
g2)= 10x+1
= (10 x2)+1

To find g(—10)
g(-3)=10x + 1
=10x10 + 1

To find g(—3)

g(-3)=10x + 1
=(10x-3) + 1
=-30+ 1




Nf:x >2x* +1

X — | square | — [X2|— |[+1|— 2x° + 1

11) f : x - (7- 3x)?

X — E\ — (subtract from 7J — | square | — (7 — 3x)’

16) Given f:x —» 1+ 2x

a) To find f(5)

f(5)=1-2x

=1—-(2 x5)

=1-10

= ]
To find f(—5)

f(=5)=1-2x

=1-(2 x =5)

=1-(—-10)
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16 b) Giveng : x — 0

To find g(2)




To find g(—3)

=X

g ~ 10
—33

-~ 10

To find g(%)
5)=
9\2) " 10
1
&)’
10

1
10
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20a)k:x—>%

To find x, Given k(x) =6

2x2 =6x3
x:2 =9
x=3

20b) m: x - 10 — x?

To find x, Given m(x) =1

10 —x% =1
—x* =1-10
—x? =-9
x> =9
x=3




Exercise - 12 Answers to assignment :- video 2

1 a) Solution
Given f: x — 4x
g:x -x+5
So, g(x)=x+5

fg=4x+5)

1b)Given g:x - x+5
f:x - 4x

So, fx = 4x

gf =4x+5
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7) Solution
7 a) Im(2)
Given m: x - 3x—1
So, m(2) =3x—1
=3x2)—-1
=6-1
=5
To find
Im(2)=2x+ 1Given I: x - 2x+1
So,I(5)=2x+1
=(2x5)+1
=10+1

=11

So, Im(2) =11




7b) ni(1)
Givenl: x - 2x + 1
(1)=2x+1
=2+1
=3
To find
2

nl(1)=x* =x+ 1) Given n: x - x

So, n(3) = x?

So, nl(1) =9

11) Given f: x —» 3(2x +4)
Solution

3(2x +4)

Lety = 3(2x + 4)

y= 6x+12
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Make x the subject
—6x=12-y

_y—12
6

+Xx

x—12

so the inverse function is

Interchange x & y

x 12
X >o=———

6 6

15) Solution

h: x >= (4+4+5x)+10

Lety = - (4+5x)+10

U1 N[ = N =

y= 2+ Ex + 10

_ 2 + 12
y = Zx

Make x subject

D =y 12
2% YT
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5x =2y — 24

2y — 24
X=————
5
_ .. 2x—24
so the inverse function is —
For an inverse function we inverse x and y
2x — 24
—_— —
S0, X 5
21) Solution
7+6
: — |+ 7
g:-x— 5
7+6
Lety = 5 + 7

X
5(}’—7)=Z+6

5y —35—6 =
y 2
4(5y —41) = x
20y — 164 = x

so the inverse function is 20x — 164

For an inverse function we inverse x and y

x— 20x — 164
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